Trig Honors Name:
Chapter 6 Part 2 Review

Solve for x over the indicated interval.
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10. Write the particular equation of the graph. 11. Write the particular equation of the graph.
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Sketch two periods of the following equations.
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16. While a contestant on Fear Factor, your task is to be attached to the side of a large spinning wheel where
you must find the correct key in order to make the wheel stop. Unfortunately, part of the wheel is underwater at
all times. The diameter of the wheel is 30 feet, the maximum height obtained is 25 feet and it takes 12 seconds
for one revolution. While spinning around on the wheel, you realize that your distance above the water varies
sinusoidally with time. After spinning in the wheel for 3 seconds, you are at the maximum height.

a. Sketch the graph of this function.
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b. Write the equation of the sinusoid.
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c. List the first three times you are at a height of 21 feet.
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